[TonyuuTb ypaBHeHHe NBHXKEHHS KyJHCHOro MexaHusma. Haiitu

3Ha4YeHHe yIJIOBOTO yCKOpeHHUs ¢ 1pu t = 0.

Bapuanr 1

-

MDz = M() — kwlz,

an = —Hw4,,

an = —VUs,,

My = 10HwMm, k£ = 14Hwmc,
v = 8kHc/m, = 15Hmc,
I = 7KFM2, meo = 14Kr,
ms = 32KTI, my4 = 24Kr,
Ry = 37cMm, r1 = 26¢M,
R3 = 27CM, R4 = QOCMy
rqs = 12cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 04%

Bapuant 2

Mp, = Mo — kws.,,

an = —pw4,,

My = 13Hwm, k£ = 11Hwmc,
uw=11Hwme, I = 18K1"M2,
ms = 18Kr, ms = 306kKT,
my = 28KT, ms = 8KT,
Ry = 34cm, r; = 23cm,
Rs = 24cMm, Ry = 20cM,
rqe = 12cM, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 01%

Bapuanr 3

Mp, = Mo — kws.,,

an = —Hw4_,

F,, = —vus,,

My = 10HwM, k£ = 14Hwmc,
v = 25Hc/m, = 11Hwme,
I = 7KI‘M2, meo = 17Kr,
ms = 35Kr, my4 = 27KT,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqs = 12¢cM, i4 = 16cM,
$1,0 = 1.4, Wi,,0 = 0.4%.




Bapuant 4

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

My = 11Hwm, k£ = 15HMmc,
v = 35Hc/m, p = 14Hwme,
I = 11krm2, mso = 15kT,
ms = 33KT, my4 = 25KT,
Ry = 38cMm, r1 = 27cM,
R3 = 28cm, R4 = 20cM,
rqy = 12¢cMm, 14 = 14cm,
$1,0 = 1.2, Wi,,0 = 05%

Bapuanr 5

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 8Hwm, k = 15Hwmc,
v = 50Hc/m, p = 14Hwme,
I = 5KFM2, meo = 15KT,
ms = 33KT, my4 = 25KT,
Ry = 38cMm, r1 = 27cM,
R3 = QBCM, R4 = QOCMy
rqy = 12¢cM, 74 = l4cmM,
$1,0 = 1.2, Wi,,0 = 05%

Bapuanr 6

MDz = Mo — kaz,

M, = —pws.,

F,, = —vus,,

Mo = 9Hwm, k = 12Hwmc,
v = 40Hc/m, p = 14Hwme,
I = 6KI‘M2, meo = 14K,
ms = 32KT, ma4 = 24Kr,
Ry = 35cm, 11 = 24cwm,
Rs3 = 25cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 02%




Bapuant 7

MDz = Mo — kw1z,
an = —pw4,,

My = 10HwMm,k = 15HMmc,
u = 15Hwme, I = 7KFM2,
meo = 14Kr, ms = 32Kr,
my = 24Kr, ms = 50Kr,
Ry = 38cm, r; = 27cwM,
R3 = 28cmMm, R4 = 20cM,
rqy = 12cM, 14 = 13cM,
rs = 16¢Mm,

g017() = 1.1, ojlz,o = 05%

Bapuanr 8

MDz = M() — k)UJ3Z,

an = —Hw4,,

an = —UVVs,,

My = 7Hwm, k = 11Hwmc,
v = 55Hc/m, = 15Hme,
I = 4KFM2, meo = 14Kr,
ms = 32KTI, my4 = 24Kr,
Ry = 34cm, r1 = 23cM,
Rs = 24cMm, Ry = 20cM,
rqy = 12cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 01%

Bapuanr 9

MDz = Mo —kw:gz,

an = _Mw427
Moy = 11Hwm, k£ = 11Hwmc,
u = 11Hwmc,

I = 11K1"M2, mo = 17Kr,
ms = 3DKr, m4 = 27KT,
Ry = 34cwm, r; = 23cm,
Rs = 24cMm, Ry = 20cwM,
rqy = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 01%




Bapuant 10

MDz = Mo — kaz,

M, = —pws,,

F,, = —vus,,

Mo = 9Hwm, k = 14Hwmc,
v = 8kHce/m, u = 15Hwmc,
I = 6KI‘M2, meo = 14K,
ms = 32KT, my4 = 24KT,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 0.4%.

Bapuant 11

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 7Hwm, k = 13Hwmc,
v = 40Hc/m, p = 14Hwme,
I = 4KFM2, meo = 14Kr,
ms = 32KTI, my4 = 24Kr,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26CM, R4 = QOCMy
rqy = 12cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 03%

Bapuant 12

MDz = Mo — kw1z,

M, = —pws,,

My = 14Hwm, k = 12Hwmc,
u = 10Hwmc, I = 23K1"M2,
meo = 18kr, ms = 306kT,
my4 = 28KT, ms = 8KT,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqg = 12cM, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 02%




Bapuant 13

MDz = Mo — kw1z,

M, = —pws,,

Mo = 12Hwm, k = 14Hwmc,
u=13Hwme, I = 15K1"M2,
meo = 16Kr, ms = 34Kr,
my = 26KT, ms = TKT,
Ry = 37cwm, r; = 26¢M,
Rs3 = 27cm, Ry = 20cM,
rqs = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 04%

Bapuant 14

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

Moy = 11Hwm, k = 12Hwmc,
v = 20Hc/m, g = 10Hwmc,
I = 8KI‘M2, meo = 18Kr,
ms = 36KT, my4 = 28KT,
Ry = 35cmM, r1 = 24cm,
Rs3 = 25¢cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 17cMm,
$1,0 = 1.5, Wi,,0 = 0.2%.

Bapuanr 15

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVUs,,

Moy = 8Hwm, k = 13Hwmc,
v = 8kHc/m, u = 13Hmc,
I = 5KFM2, mo = 15KT,
ms = 33KTI, m4 = 25KT,
Ry = 36cm, 11 = 25cM,
R3 = 26CM, R4 = QOCMy
rqy = 12¢cM, 74 = 14cM,
$1,0 = 1.2, Wi,,0 = 03%




Bapuanr 16

MDz = Mo — kw1z,

M, = —pws,,

My = 11Hwm, k£ = 15HwMmc,
uw=13Hwmc, I = 11K1"M2,
meo = 15Kr, ms = 33Kr,
my4 = 2DKT, ms = DKT,
Ry = 38cm, r; = 27cwM,
Rs3 = 28cm, R4 = 20cM,
rqy = 12¢cM, 74 = l4cmM,
$1,0 = 1.2, Wi,,0 = 05%

Bapuant 17

MDz = Mo — kw1z,

My, = —pwa,,

F,, = —vus,,

My = 13Hwm, k£ = 12Hwmc,
v = 40Hc/m, g = 11Hwme,
I = 19xrm2, mo = 17kT,
ms = 35Kr, my4 = 27KT,
Ry = 35cmM, r1 = 24cm,
Rs3 = 25¢cm, Ry = 20c¢M,
rqs = 12¢cM, i4 = 16cM,
$1,0 = 1.4, Wi,,0 = 0.2%.

Bapuanr 18

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —VUs,,

My = 8Hwm, k = 11Hwmc,
v = 50Hc/m, p = 13HwMmc,
I, = 5xrm?2, mo = 15kr,
ms = 33KTI, m4 = 25KT,
Ry = 34cwm, r; = 23cm,
R3 = 24cMm, Ry = 20cM,
rqy = 12¢cM, 74 = 14cM,
$1,0 = 1.2, Wi,,0 = 01%




Bapuant 19

Mp, = Mo — kws.,

M, = —pws,,

F,, = —vus,,

Moy = 13Hwm, k = 11Hwmc,
v = 20Hc/m, g = 10Hwme,
I = 18KI‘M2, meo = 18KT,
ms = 36KT, my4 = 28KT,
Ry = 34cm, r1 = 23cM,
R3 = 24CM, R4 = QOCM,
rqs = 12¢cMm, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 0.1%.

MDz = M() 7]4)14.)32,

My, = —pws,,
Moy = 10Hwm, k£ = 15Hwmc,
1 = 13Hwmc,

I = 9KI‘M2, meo = 16KT,
ms = 34Kr, m4 = 20KT,
Ry = 38cMm, r1 = 27cM,
Rs3 = 28cm, Ry = 20cM,
rqy = 12cMm, 14 = 15cm,
g017() = 1.3, ojlz,o = 05%

Bapuant 21

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVUs,,

My = 8Hwm, k = 14Hwmc,
v = 50Hc/m, p = 14HwMmc,
I = 5KFM2, mo = 15KT,
ms = 33KTI, m4 = 25KT,
Ry = 37cwm, r; = 26¢M,
R3 = 27CM, R4 = QOCMy
rqy = 12¢cM, 74 = 14cM,
$1,0 = 1.2, Wi,,0 = 04%




Bapuant 22

Mp, = Mo — kws.,

M, = —pws,,

F,, = —vus,,

My = 13Hwm, k£ = 15HMmc,
v = 8kHce/m, p = 10Hwmc,
I = 18krm2, mo = 18k,
mg = 36Kr, m4 = 28KT,
Ry = 38cMm, r1 = 27cM,
Rs3 = 28cm, Ry = 20cM,
rqs = 12¢cMm, 14 = 17cM,
g017() = 1.5, ojlz,o = 05%

Bapuanr 23

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —VUs,,

My = 12Hwm, k£ = 15HwMmc,
v = 35Hc/m, = 10HwMmc,
I, = 13xkrm?2, mo = 18kr,
ms = 36Kr, m4 = 28KT,
Ry = 38cMm, r1 = 27cM,
R3 = QBCM, R4 = QOCMy
rqy = 12cM, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 0.5%A

Bapuant 24

MDz = Mo — kw1z,

M, = —pws.,

F,, = —vus,,

Mo = 11Hwm, k£ = 11Hwmc,
v = 35Hc/m, p = 14HwMmc,
I = 11krm2, ms = 15kT,
ms = 33KT, my4 = 25KT,
Ry = 34cwm, r; = 23cem,
R3 = 24CM, R4 = QOCM,
rqs = 12¢cM, 14 = 14cM,
$1,0 = 1.2, Wi,,0 = 01%




Bapuaur 25

MDz = Mo — kaz,
M, = —jwa.,

My = 10HwMm,k = 11Hwmc,
p = 13Hwmce, I; = 9xrm?,
meo = 16Kr, ms = 34Kr,
my4 = 26KT, ms = DKT,
Ry = 34cwm, r; = 23cm,
R3 = 24CM, R4 = QOCM,
rqa = 12cMm, 14 = 15cm,
rs = llcwm,

$1,0 = 1.3, Wi,,0 = 0.1%.

Ey,

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 7Hwm, k = 12Hwmc,
v = 40Hc/m, g = 15Hwme,
I = 4KFM2, meo = 14Kr,
ms = 32KT, my4 = 24Kr,
Ry = 35cmM, r1 = 24cm,
R3 = 25CM, R4 = QOCMy
rqy = 12cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 02%

Bapuantr 27

MDz = Mo — kaz,

M, = —pws.,

F,, = —vus,,

Mo = 9Hwm, k = 13Hwmc,
v = 30Hc/m, p = 13Hwme,
I = 6xrm?2, mo = 16kr,
ms = 34Kr, m4 = 20KT,
Ry = 36cm, 11 = 25cM,
Rs3 = 26¢cm, Ry = 20c¢M,
rqs = 12¢cM, i4 = 15cM,
$1,0 = 1.3, Wi,,0 = 0.3%A




Bapuanr 28

Mp, = Mo — kws_,

M, = —pws,,

F,, = —vus,,

Mo = 9Hwm, k = 14Hwmc,
v = 20Hc/m, g = 13Hwme,
I = 6KI‘M2, meo = 16KT,
ms = 34Kr, ma4 = 26K,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 15cm,
$1,0 = 1.3, Wi,,0 = 0.4%.

Bapuaur 29

MDz = M() — k)UJ3Z,
My, = —pws,,

Moy = 9Hm,k = 12Hwmc,
u = 14Hwmce, I = 6KIrM2,
meo = 14Kr, ms = 32Kr,
mq = 24Kr, ms = 30Kr,
Ry = 35cm, r1 = 24cm,
Rs3 = 25cm, Ry = 20c¢M,
rqs = 12¢cMm, 14 = 13cM,
rs = 16cMm,

$1,0 = 1.1, Wi,,0 = 02%

Bapuanr 30

MDz = Mo - kw1z,

My, = —pwa,,

F,, = —vus,,

Moy = 13Hwm, k = 12Hwmc,
v = 8kHc/m, u = 12Hmc,
I = 19KI‘M2, meo = 17TKr,
ms = 35Kr, my4 = 27KT,
Ry = 35cm, 11 = 24cwm,
Rs3 = 25cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 02%




OtBeThl

T = (¢?/2)(A + Bsin? @)
A B Q €
1 9.190 1.442 -9.484 | -0.927
2 | 20.081 | 2.027 | -23.377 | -1.163
3 9.396 4.143 | -33.122 | -2.477
4 | 13.383 | 2.169 -6.166 | -0.416
5 7.383 1.699 | -29.891 | -3.391
6 7.960 | 13.097 | -43.175 | -2.363
7 9.310 3.072 | -31.962 | -2.746
8 5.850 1.129 | -12.870 | -1.908
9 | 13.023 1.814 0.368 0.028
10 | 8.190 1.442 | -36.734 | -3.945
11 6.074 14.211 | -59.277 | -3.444
12 | 25.205 | 5.554 | -27.673 | -0.901
13 | 17.327 | 2.241 8.563 0.436
14 | 10.205 | 3.815 | -23.556 | -1.683
15 7.138 1.847 | -28.766 | -3.297
16 | 13.383 | 4.587 -4.513 | -0.282
17 | 21.144 | 10.699 | -12.655 | -0.404
18 | 6.907 7.819 | -24.943 | -1.823
19 | 20.081 | 5.406 | -25.028 | -0.983
20 | 11.455 1.849 -18.818 | -1.614
21 | 7.259 1.575 | -25.351 | -2.948
22 | 20.599 | 2.191 -45.329 | -1.992
23 | 15.599 | 15.122 | -65.621 | -2.150
24 | 12.907 | 2.764 7.880 0.514
25 | 10.965 | 1.688 13.896 1.108
26 | 5.960 7.567 | -41.805 | -3.503
27 | 8.203 1.635 | -21.687 | -2.235
28 | 8.327 2.154 | -26.821 | -2.606
29 | 7.960 4.157 -47.182 | -4.196
30 | 21.144 | 5.299 | -38.499 | -1.466
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